= A
N = 0] &F AF S & AN A
2020 = 20l A LBHSH F=0I =X
2AN: F=SX
M FOMEXEAMHA RZ
Sel: JZMERE (Sl &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ZF 0= X1 51,109,230 43,572,418 7,536,812
= 29,907,617
g 1,340,713
= 5,899,190
Al 13,961,710
FOIMET|2AAMH A HZ2 26,822,352 21,880,872 4,941,480
= 18,590,271
g 996,583
& 3,261,361
Al 3,974,137
I=MEs8 s 19,012,258 16, 149,532 2,862,726
= 14,889,287
o 1,951,001
Al 2,171,970
MASH(EX) 18,144,222 15,791,300 2,352,922
= 14,515,378
o= 1,814,422
Al 1,814,422
301 et M= 18, 144,222 15,791,300 2,352,922
= 14,515,378
& 1,814,422
Al 1,814,422
01 Al E&E A£G 2 18, 144,222 15,791,300 2,352,922
OJI=MeE8 &3 MAHS N 18, 144,222
= 14,515,378
== 1,814,422
Al 1,814,422
MMM (EX) 119,236 144,903 N 25,667
= 95,390
& 11,923
Al 11,923
301 et A= 119,236 144,903 N25,667
= 95,390
& 11,923
Al 11,923
01 Al E & A 462 119,236 144,903 N 25,667
OJIzMEEEHLZX HAEHS 119,236
= 95,390
o 11,923
Al 11,923
HMEok=2 EHHHl KR (BX) 58,000 43,870 14,130
= 58,000
01 LBt A Y| 58,000 43,870 14,130
= 58,000
02 232%H4| 58,000 43,870 14,130
OFF A= &ifdl XI& 58,000
= 58,000




AN =S
M FZDIMBXRAMHIA H2
el DIz MEEH (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HEY IZMEEEMNY(ER) 50,000 86,304 A 36,304
< 25,000
Al 25,000
301 LEd = 50,000 86,304 A 36,304
< 25,000
Al 25,000
01 Ml2ZHE 6= 50,000 86,304 A 36,304
O&=dg JIzda2d & 50,000
< 25,000
Al 25,000
M= I= 38,262 53,155 A 14,893
308 XXM SO0l A 38,262 53,155 A 14,893
08 WEII20HStE X 38,262 53,155 A 14,893
Ousz=o (XL 2¢43) 38,262
IO x4ZX SIE2INIX (LS Lale) 128,000 0 128,000
307 21201 A 128,000 0 128,000
11T MISRASEX 128,000 0 128,000
OG3ANAZIE - 2SN HEH AL
2 128,000
OlMel a4 XN (B=X) 33,500 30,000 3,500
< 33,500
201 L2l 1,700 1,700 0
< 1,700
01 At 22l 8l 1,200 1,200 0
OO0lMe s Lpt+=ZH| 1,200
< 1,200
02 =24l 500 500 0
OZHY &I SHea S 500
< 500
301 LEEHS 31,800 28,300 3,500
< 31,800
09 HALAHIXI &3 300 300 0
OMdi=5 W=sHl =S 300
= 300
12 JIEtE4 = 31,500 28,000 3,500
OMii=z €3 ¢ 31,500
< 31,500
HASE OIMHX 0tA3 BE2(BX) 441,038 0 441,038
= 220,519
< 66,156
Al 154,363
301 LEEAZ 441,038 0 441,038
= 220,519




A FUEX L
M FOMEXEAMHA RZ
Sel: JEZMEBEE (ctel:&2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 66, 156
Al 154,363
01 Al B & A 462 441,038 0 441,038
OMASES 0IMHX OtA3 B2 441,038
= 220,519
= 66, 156
Al 154,363
FAAHS KA 2,309,722 1,904,327 405,395
= 654,201
g 996,583
& 197,343
Al 461,595
222X (EX) 817,751 597,275 220,476
= 654,201
=} 65,420
Al 98,130
301 et M= 817,751 597,275 220,476
= 654,201
= 65,420
Al 98,130
01 M EXEE 4562 817,751 597,275 220,476
(OFadi=2-D\PNE:! 817,751
= 654,201
& 65,420
Al 98,130
NAXEE AMIAHA ENANSE(EX) 1,245,729 1,156,593 89,136
g 996,583
= 124,573
Al 124,573
201 B9 884 884 0
= 708
o 88
Al 88
01 AP 22| H| 884 884 0
OXDASI A A EXAIY 2G| 884
hag 708
= 88
Al 88
202 044 1,000 1,000 0
= 800
= 100
Al 100
01 2L Y| 1,000 1,000 0
OXYGASIABIA EXAFS O HI 1,000
Fag 800
& 100
Al 100




SN FUSKD
M FOMEXEAMHA RZ
el HUH ST EEREED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
307 glz2tol & 1,243,845 1,154,709 89,136
s 995,075
< 124,385
Al 124,385
11 AISI S XA E = 1,243,845 1,154,709 89,136
OXNAASIAMEIA EXFALS 1,243,845
s 995,075
= 124,385
Al 124,385
IZZCYWIMNY XN (BX) 29,400 28,000 1,400
= 7,350
Al 22,050
307 glz2tol & 29,400 28,000 1,400
= 7,350
Al 22,050
11 AISI S XA E X 29,400 28,000 1,400
OJIRA U 2HXE 29,400
< 7,350
Al 22,050
HAKX BS 7,000 7,000 0
301 LEAF 4,000 4,000 0
12 J|EtE &= 4,000 4,000 0
OdAX Xl &tH| 1,000, 000& 47 4,000
307 glz2tol & 3,000 3,000 0
01 z2L =4l 3,000 3,000 0
Odled Xt 25| 20,000 150 3,000
MAasS=0 A28z N 156,000 62,000 94,000
301 LEPEHZF 156,000 62,000 94,000
01 MEIBEE 053 156,000 62,000 94,000
OMAS=F:E QA2 - AL 28
13,000,000& »12& 156,000
SFRAUOIIE MIIR3 XA 10,800 10,800 0
301 LEBEAZ 10,800 10,800 0
01 MEIBZE 06z 10,800 10,800 0
OGFUUOIIIE MII23 X
900,000& »12& 10,800
F Ot A /OHA MHIA M3 43,042 42,659 383
201 LB-2d| 5,602 5,939 A 337
01 At 22l 874 840 34
O ZXNMAN A2 WH S 16,8003 «5204 874
02 =224l 4,728 5,099 A 371




2N
X ZH -
L= B

el

B
1288

= Xl
METAAMEA WS
HEXH

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OESZNUN sazetl S
5,500 5201 «12& 3,432
Ot=28~ 2otMBIA 603 #4500t *43| «12& 1,296
301 LA S 37,440 18,720 18,720
01 MEIBEE 263 37,440 18,720 18,720
O RQIREE Y MUlA
600 4000t 7+ 2= 33| #6525 37,440
S|A=EX XA 385,529 381,929 3,600
= 191,586
Al 193,943
SEHAF ZelAb 21 XA (BEX) 97,692 95,000 2,692
= 48,846
Al 48,846
101 @121l 97,602 95,000 2,602
= 48,846
Al 48,846
03 RIAHAZZ2TE = 97,692 95,000 2,692
OSE At 22l At 14l XI& 97,692
= 48,846
Al 48,846
S A 22l AL el Al K& 10,977 10,069 908
101 @124l 10,977 10,069 908
03 RIAHAAZ 2R 10,977 10,069 908
OSE At 22l Al "SI0 A bl 10,977
& Mz AlY| 130,000& x3H x12& 4,680
wSHl 2 120,000 x1Hx123 1,440
ZEFOHYI 2,713,600 x60%* 1 »23| 3,257
FEF O 400,000& x2H #23| 1,600
ANZ7 SgAtd el K& (EX) 15,000 15,000 0
= 7,500
Al 7,500
101 1A bl 6,500 0 6,500
= 3,250
Al 3,250
03 I AHA2ZZHE > 6,500 0 6,500
OsgAtdatel £&Z| 6,500
= 3,250
Al 3,250
201 LB-2d | 4,000 8,000 A 4,000
= 2,000
Al 2,000
01 At 22l 4,000 8,000 24,000
OSE At 2el 29l 4,000
= 2,000




SN Fo=NY
M FOMBUAAHA K2
& JY=EXX CEE-ED
= (o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 2,000
301 LEAZ 4,500 7,000 A 2,500
= 2,250
Al 2,250
01 A3l EE E 56l = 4,500 7,000 A 2,500
OSg At 2el Artl 4,500
= 2,250
Al 2,250
SHE AEYH SEAMUIA NB(BX) 193,200 193,200 0
= 135,240
Al 57,960
301 LBEXZ 193,200 193,200 0
= 135,240
Al 57,960
01 A EE E 563 193,200 193,200 0
O=ts =8 sEgMtlA X3 193,200
= 135,240
Al 57,960
ROt =SXAMHA 28 X& 45,540 45,540 0
201 Let24d] 45,540 45,540 0
02 8323l 45,540 45,540 0
OXEE =X 2eld ¢ oEX20l =K
u]l 45,540
QIMOLE ALY (RN ESE) 23,120 23,120 0
201 Let24d] 11,500 11,500 0
01 At 22l 7,500 7,500 0
O3 Y =X LEr==H] 4,500
OSXALZRC &= IMotMA ASk25 A3
- 2,000
O SeAd 23 A3E 1,000
02 =224l 4,000 4,000 0
OsZd=k RFHE IHE R 4,000
202 o4l 6,620 6,620 0
01 = LH YI 6,620 6,620 0
O3Z=XNANAE HR=2HI
20,0003 x2H 110 4,400
O0t= slZ=XaEgs 29 2,220
301 LEXZ 5,000 5,000 0
01 MEIBZE 05z 5,000 5,000 0
ORAJIII2ES deldam ¢ Xzt S 5,000
M3 =XAE K& 4,353,688 2,686,749 1,666,939
= 2,313,122
< 1,113,017




SN Fo=NY
M FOMEXEAMHA RZ
&2 MEEXAIE X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 927,549
FAUQAANSE 2R (EX) 2,117,472 2,142,477 A 25,005
= 1,482,230
& 635,242
307 glz2tol & 2,117,472 2,142,477 A 25,005
= 1,482,230
< 635,242
10 AL SXAIEEE2EHEX 2,117,472 2,142,477 A 25,005
OBURAANLE 29 2,117,472
= 1,482,230
< 635,242
HAUQAANYE 2N (& BX) 78,591 91,312 A12,721
< 23,577
Al 55,014
307 21201 A 78,591 91,312 A12,721
< 23,577
Al 55,014
10 ALSISEXAIEEE2EHEX 61,200 63,000 A 1,800
OZJUQLYANE SALL EE€=E 61,200
< 18,360
Al 42,840
11T M SXALSE EX 17,391 18,312 A 921
OFAQAALE HeaZzd X 14,400
< 4,320
Al 10,080
OFURAAL Mol HAAd XA 2,991
< 897
Al 2,094
HAUQUAANL JS2L(2X) 1,661,785 0 1,661,785
= 830,892
[ 415,446
Al 415,447
402 RI2EX 20| ™ 1,661,785 0 1,661,785
= 830,892
< 415,446
Al 415,447
02 QI 2 AL EZ (O TH ) 1,661,785 0 1,661,785
OAltd Y JIsEZ(Ma2 HES S) 1,661,785
= 830,892
< 415,446
Al 415,447
FAQAAY JsEL (= BX) 40,000 0 40,000
< 32,000
Al 8,000
402 RIZEX20| A 40,000 0 40,000
< 32,000




AN =S
M FZDIMBXRAMHIA H2
SRl ASEXAE XS (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 8,000
02 U EALEZ(0IETHR) 40,000 0 40,000
OFEHUMA(E NFLEH) 40,000
A0 Y =22 43X 40,000
< 32,000
Al 8,000
AEl X2 X2 (EX) 25,840 22,960 2,880
< 6,752
Al 19,088
307 glz2tol & 25,840 22,960 2,880
< 6,752
Al 19,088
11T M SXAISE EX 25,840 22,960 2,880
OAMSI=RZ BAR S8+ 15,840
< 4,752
Al 11,088
OAMgl=X& N9=2X2208 X 10,000
= 2,000
Al 8,000
A2 =X2 X2 430,000 430,000 0
307 gl2tol & 430,000 430,000 0
05 BIZHRIE 3 430,000 430,000 0
Og&Aa=x2 29 430,000
M =R 2] 734,455 702,340 32,115
= 542,075
Al 192,380
MII=ERHME X3 (EX) 542,075 510,000 32,075
= 542,075
301 LEXZ 542,075 510,000 32,075
= 542,075
0B A =RRAB LS 542,075 510,000 32,075
OMII=2R23 B 472,577
= 472,577
OAMIA=2RF I=4| 8,637
= 8,637
OMI=22F WSt 60,861
= 60,861
AN =2R3 2l 192,380 192,340 40
301 LBEXS 192,380 192,340 40
0B M ERRIABHS 192,380 192,340 40
OAMA=ERE SAH| 176,000& 90 » 128 190,080
OAE=2¥ dai2E 2,300
FoMEST2AME A JIBEY 26,700 55,995 A29,295




AN =S
M MR AMEA WS
Sl FOIMBXAMYA JIP T (e @e)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
FU=EXNXH 26,700 55,995 A29,295
201 £B-2d| 20,700 20,700 0
01 At 22l 20,700 20,700 0
OANs=Xgg2ea 2guD
230,000& x90H 20,700
203 ¥ S =&l 3,000 3,000 0
03 AIF=XH 2 =AY 3,000 3,000 0
OFQU=X AlIHZ=2A 250,000& =128 3,000
301 LPEXZ 3,000 3,000 0
09 HALAHIX &S 3,000 3,000 0
Ostdl ol AL & A 24 50,000 *60H 3,000
ZoHe =EXNEX 17,048,979 14,525,467 2,523,512
= 8,896,949
< 2,180,974
Al 5,971,056
Zofel Matmo =22 X F& 11,530,756 9,326,512 2,204,244
= 7,209,797
< 1,391,595
Al 2,929,364
Zoerza 20 N=(B2x) 4,167,534 3,849,899 317,635
= 2,917,274
< 375,078
Al 875,182
301 LeEBA S 4,167,534 3,849,899 317,635
= 2,917,274
< 375,078
Al 875,182
01 MEIBEE 5= 4,167,534 3,849,899 317,635
@RSV RelReE=N = 4,167,534
= 2,917,274
< 375,078
Al 875,182
Zo=gOlx) NS(BX) 470,711 460,403 10,308
= 329,498
< 56,485
Al 84,728
301 LA F 470,711 460,403 10,308
= 329,498
< 56,485
Al 84,728
01 Ml28E 6= 470,711 460,403 10,308
OFo=< XNS(I=x) 470,711
= 329,498
< 56,485
Al 84,728

«©




2H: FoI=XD

M HOe =2XNE5E
CHelr MOl MEBO 29 =X ZX (el @2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Zo=g (A& 8) ANs(EX) 367,914 365,924 1,990
=2 257,540
< 44,149
Al 66,225
301 LEHZ 367,914 365,924 1,990
=2 257,540
< 44,149
Al 66,225
01 M2I2EZE+06l= 367,914 365,924 1,990
OX== XIS (X&) 367,914
= 257,540
< 44,149
Al 66,225
aZojolelzy NA(BX) 215,762 304,618 A\ 88,856
= 172,610
< 17,261
Al 25,891
307 glz2+0l & 215,762 304,618 A\ 88,856
= 172,610
< 17,261
Al 25,891
11 AISI S XA E X 215,762 304,618 A 88,856
O&Oel 2=Hl XA 215,762
= 172,610
< 17,261
Al 25,891
HASEOC MetH 2 AAH XB(ExX) 3,600 3,600 0
= 1,800
< 720
Al 1,080
301 LEAF 3,600 3,600 0
= 1,800
< 720
Al 1,080
01 Al EE H 56l = 3,600 3,600 0
OFoHel S=AEHl XA 3,600
= 1,800
= 720
Al 1,080
ZojC BXI1J] nR(ExX) 4,598 4,172 426
= 3,678
= 368
Al 552
301 LPEXZ 4,598 4,172 426
= 3,678
= 368
Al 552




2H: FoI=XD

M Zoje =2XNEA
ol FOHOl MEMO T2 =X FA (sl &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
01 M BEEESG2 4,598 4,172 426
OO BEXD|D] & 4,598
= 3,678
= 368
Al 552
ool B2 £2/Hl X 5,600 8,000 N 2,400
307 212t0| & 5,600 8,000 AN 2,400
11 A SXNAEE X 5,600 8,000 N 2,400
O&oel 8&32 =2/ XA 5,600
ool ShHl X 165,560 160,560 5,000
307 212t0| & 165,560 160,560 5,000
02 I2tH AALH E X 46,560 46,560 0
OXHMAEOHCIES AGAH 15,000
OAZEOMIAE T AIY X& 7,000
O=s0o 83 Al X 5,560
OZE23 Al X 8,000
O EZ MY XA 3,000
OB HHMCIES AP K& 8,000
03 AU EESIHE=X 119,000 114,000 5,000
OXMEHCES &9 25,000
OAZEMRIAE ST 29 23,000
Os0logs 29 24,000
O&EMIRER2E 2 23,000
O HMRES 299 23,000
O ES &9 1,000
ZHOfQl CHH S HE 100,000 0 100,000
401 Al Bl 2 0HHI 100,000 0 100,000
01 Al&H| 100,000 0 100,000
OXO0HQ X =sal HE(EAH=2H) 100,000
RNEZOHQ NEXNFLAEH 2 (& BEX) 113,709 0 113,709
< 22,742
Al 90,967
307 QI2t01 ™ 113,709 0 113,709
== 22,742
Al 90,967
10 Al SXAIEEE2IHIEX 113,709 0 113,709
OXNZBEHOMAKS X ANME 29 113,709
& 22,742
Al 90,967
Ol HOAIE XM 2H(E BEX) 54,874 0 54,874
& 14,816
Al 40,058




2H: FoI=XD

Hu: ool 2N
ol FOHOl MEMO T2 =X FA CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 54,874 0 54,874
< 14,816
Al 40,058
10 ALl SXAIEEE 2 H EX 54,874 0 54,874
OFel HAANE XNALEH 29 54,874
< 14,816
Al 40,058
ZOHQIo & AIXA 17,000 17,000 0
307 glz2+ol & 17,000 17,000 0
11T MISRASER 17,000 17,000 0
OHMI403 Eofele & Jlgstote 17,000
8 XE & A2FHML =X 4,000 4,000 0
307 21201 A 4,000 4,000 0
11T M3 SXAISEEX 4,000 4,000 0
OHM41al EX&ole g AlZtEoel =Xz 4,000
g3 A =022tM iz 10,000 0 10,000
307 gl2tol & 10,000 0 10,000
11T ASI S RAEE = 10,000 0 10,000
OHM2g Al =0HEatH Nz 10,000
2T A XI& 12,200 10,600 1,600
301 LEAZ 12,200 10,600 1,600
09 HALAHIX &S 12,200 10,600 1,600
Od= s0teliig 4243  40,000& =659 2,600
O&= XNHMEHS XNE=XCHE HFABas
150,000& »4H 600
OHM23al 8= XNMEEOMLY GHLUa FHBL=
150,000& x4 H 600
OAIZZOjQl 8 XZ0| Hase HABAD
10,000& 30 83| 2,400
Od= ZUe o=tz X248
50,000& »20H 1,000
O&= JIsdI Ha F4dE4=
20,0003 30 600
OZsdg & M==X49 sotel XIEX+ Mol
HEABAZ 150,000 =8 1,200
O&= NRLLHML SXNUHs HFA2a=3
40,0003 »40H »22 3,200
O LRl XA (LeteE dTtel)(BEX) 765,064 694,092 70,972
= 382,532
< 153,012
Al 229,520
307 21201 A 765,064 694,092 70,972
= 382,532




2H: FoI=XD

Hu: ool 2N
CHe|: EOjQl MEmo =29 22X SX (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 153,012
Al 229,520
11T A EXAIEEX 765,064 694,092 70,972
OOl ety A Xtel X3 765,064
= 382,532
= 153,012
Al 229,520
Zoj el Kl K& (AlIZFRIL REEN)(EX) 102,100 124,020 A 21,920
= 51,050
= 20,420
Al 30,630
307 QI2t0| & 102,100 124,020 A 21,920
= 51,050
o=} 20,420
Al 30,630
11 A EXAIEEX 102,100 124,020 A 21,920
OO AZ2FH X2l X 102,100
= 51,050
= 20,420
Al 30,630
ool el XN (S XNYxel)(BEx) 361,224 356,982 4,242
= 180,612
= 72,245
Al 108,367
307 2iz2to| A 361,224 356,982 4,242
= 180,612
== 72,245
Al 108,367
11T A EXAIEEX 361,224 356,982 4,242
OZe EXILXel XSAE 361,224
= 180,612
= 72,245
Al 108,367
ZojoI A Kel N (LT HO QUABSAF EX2 Xt 491,760 398,347 93,413
JCED)
= 245,880
= 98,352
Al 147,528
307 2Iz2to| A 491,760 398,347 93,413
=2 245,880
& 98,352
Al 147,528
11T AISIEXAIEEX 491,760 398,347 93,413
O QLABSAI EXL Xt 491,760
= 245,880
= 98,352
Al 147,528




2H: FoI=XD
HE: Fojol =X

|
Helr Zojel MEpo 22 =X 53 (Sl & &)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

ZONQI Y Rrel K& (A2 ZO0 QN OFOMAF I ) (B X) 33,315 0 33,315
26,652
2,665
3,998

= N H

307 21201 & 33,315 0 33,315
26,652
2,665
3,998

= N H

ARSI S XA E X 33,315 0 33,315
OAIZEE Ol QHOFAF THA ALY 33,315
26,652

2,665
3,998

= N H

ZoHe 2K 20 NA(EX) 3,206,749 1,993,647 1,213,102
2,244,724

384,810
577,215

= Hn W

307 21201 A 3,206,749 1,993,647 1,213,102
2,244,724
384,810
577,215

= M W

1A SXAIE E = 3,206,749 1,993,647 1,213,102
OZ0He ESXHAE 3,206,749
2,244,724

384,810
577,215

n

= MW

0
o
o
om
T
P
o
[P
Ll
=}
HT
P

7,650 13,920 26,270
5,354

918
1,378

= N W

307 glztol & 7,650 13,920 A6,270
5,354

918
1,378

= W

1A SXAIE 2 = 7,650 13,920 26,270
OFe 2SXNIAS(ZSSHML I3 0) 7,650
5,354
918
1,378

= MW

Zoe 2sXd & FHNA(E BEX) 122,427 27,693 94,734
36,731
85,696

= M

307 21201 A 122,427 27,693 94,734

36,731
85,696

= M

[=]
—

11 AL S XA

&
OX sk

FA

122,427 27,693 94,734
& FIXE 122,427

o




. F0IE2X 0

T T/

Zoje =XNE
c AOHQl MEHEHO 29 22X =X )
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 36,731
Al 85,696
ZOHQl At ES XS 24,060 21,444 2,616
201 LBt | 15,080 14,464 616
01 AP 22| H| 8,500 7,240 1,260
ORIes EF&L 70,000 *9H ~63] 3,780
OZe M2=EXE F=XSE =X 500
OXOHQ E A& HEE AXNB(EAM)
135,000& 12& 1,620
OXH L &0 QAIMS =
600,000 *13] 600
OXHMAXNSX =XEX 2
1,000& *2,0000H 2,000
02 E22%H| 6,580 7,224 AN 644
OO EXIIE 2 i 3,220& *1,0000H 3,220
OXFC & Al HE=s 2222
280,000 x12& 3,360
202 o4 | 4,480 4,480 0
01 2Ll 4,480 4,480 0
O&Me MEFXE FXUHE S 2N 4,480
301 et M= 4,500 2,500 2,000
01 Al B & X 262 4,500 2,500 2,000
OAZZEOHC SHOHLY HESMH A XSAS 2,500
QT ESEXNINE U242 KA (AIZH)
4,000 x500H 2,000
ZOHOl THE 2 ASIEN AMYE(E EX) 44 543 98,673 A54,130
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